H & 0l & AHS B Ml A

20248 =0ila eI SAIE 20t

I EEE<Eh

- —/ [ ==

Hu: JZMBRT HASHAEIST/AEI =TI
SE RS BIEIEN

2 e (ehol:®el)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXE M 36,452,665 29,266,370 7,186,295
= 23,159,558
[ 625,332
= 2,385,763
Al 10,049,239
= 232,773
II=MEET HASHAISISXI/ALSI S XLt 1,166,497 939,529 226,968
S 28,695
Al 1,137,802
SXIE et 1,162,997 935,529 227,468
== 28,695
Al 1,134,302
SXDIE gats flet =8 X2 3| 7,380 12,020 A4,640
201 2= 6,030 10,520 A4,490
01 AtR2t2lt] 2,070 2,160 A0
OAtS 22l 810,000 810
ONBIZXIIIZ 28409128l 519+
70,0002 * 10 22| *90f% 1,260
02 S3=gHl 3,960 8,360 A4,400
OAI2ZEEAAY elel ¥ OIE=
300,000& * 128 3,600
OdiZes M 5= 9&%40,00021 360
202 04| 1,350 1,500 A150
01 2LHoIH 1,350 1,500 A150
O=LH04HI 1,350,000& 1,350
SSH0Ig=2 & X2 A 3,000 4,283 A1,283
= 900
Al 2,100
301 EetE NS 3,000 4,283 A1,283
== 900
Al 2,100
02 ANRI2HHHS(HAAS, NLHE) 3,000 4,283 n1,283
O=B0I2R0 HAXHS FS N
700,000 700
= 210
Al 490
O=sgtol&=2l =g X3 2,300,000& 2,300
= 690
Al 1,610
MNEI=22F XIZ 150,075 151,275 1,200
301 22N = 150,075 151,275 1,200
10 ARSRFES 150,075 161,275 21,200




A SR
A J|ZMEEH HASHAIRISRI/ARISXILE)
&t SX0E ekt (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SNEEECEIED
8,0003 x75%H 247 148,200
OAISReF 2= 25,0003 +75% 1,875
ABISRHE K () (HEAY) 840,400 494,362 346,038
301 EtE NS 840,400 494,362 346,038
0 ARISRFEHS 840,400 494,362 346,038
OAS823 2124H| 840,400
o wSH| 70,0002 x75E «12& 63,000
R == 850,000 x75H 123 765,000
o I|=4| 310,000 %40 12,400
AMEISXAH E2=1=H| A& 14,000 14,000
301 EtE NS 14,000 14,000
02 ARSI SE AT S(FIANS, XLETHE) 14,000 14,000
OAI2ISRIA E=11=H|
56,0002 250 14,000
;\Pilgll/\lé‘ 29 FX(ASSXAIE BAL S 107,040 108,000 A960
= 21,408
Al 85,632
307 gl2to| & 107,040 108,000 2960
S 21,408
Al 85,632
10 Al SXAI2EE 22X 107,040 108,000 A960
OAISXIANE SARL SX+=¢
107,040,000 107,040
[ 21,408
Al 85,632
ANEISXAIE 28 F(ARISXIAE SAK 42 E 2,855 2,740 115
oteddl XI#)
= 1,427
Al 1,428
307 @20l & 2,8% 2,740 115
=S 1,427
Al 1,428
06 28= 2,8% 2,740 115
OAMZBIZXIAIE SALAF Aoi2E JHHl X
& 2,855,000 2,85
= 1,427
Al 1,428
ABIEXAE 2 FA(AR=ZXD12 SAELE LKA 4,800 5,400 2600
=g X&)
= 960
Al 3,840
307 @120l & 4,800 5,400 A600




2A:

IIZ=ME SR LHASHAIEIS I/ AlE S XI2et)

=t =
ol SX0E gy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 960
Al 3,840
10 Al SXAEEHE2EHI2x 4,800 5,400 2600
OAISXIAIE SARL MM+
4,800,000& 4,800
= 960
Al 3,840
MEISXAE SAHL S2lXIE ALY 23,130 23,130
307 @I2to| & 23,130 23,130
11 ARRIS XA E X 23,130 23,130
OA2I =X SAHAH &2l X
23,130,000 23,130
Mol = XI& 8,000 0 8,000
= 4,000
Al 4,000
401 Al HIZ S 0HbI 8,000 0 8,000
= 4,000
Al 4,000
01 AlZ2H| 8,000 0 8,000
OGAIFHAIZ SHHEXIE ZX
8,000,000& 8,000
== 4,000
Al 4,000
Molil+= &1 29 2,317 2,517 A200
201 er23| 2,117 2,117 0
01 At2tltl 1,560 1,560 0
OMN= &2 BHIAIAYE SHH|
80,0002 123 960
OMNSE X Jxt
300,000 *23] 600
2 35244l 557 557 0
ONcis =Xt SSHEAIAE HEIISA
23 26,4002 12 317
ONeli==&d D &JILs
20,0003 x 122 240
202 O4H| 200 400 A200
01 2L A LI 200 400 A200
O=U08l 200,000& 200
ANE FRAM dRFI(SXF 0 3,500 4,000 A500
ANEAY GRF(SS)(SXEHD) 2,500 1,000 1,500
203 g4l 2,500 1,000 1,500
03 A=A =] 2,500 1,000 1,500
OAEAY FR=T(SS)
2,500,000& 2,500




SH: =X™H
Hu: J|ZMERT HASHASIST/AEI =TI

ool AR FQAIM QREX(SNFM ) (crel )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ANHAY SRR (FAH) (SAEH1) 1,000 3,000 A2,000

203 HR=H] 1,000 3,000 22,000
03 A=A PR 1,000 3,000 /2,000
OABAIY HREZI(RA)
1,000,000& 1,000
2VI2E 22 & X (ME=EX/EE) 4,306,982 3,456,755 850,227
& 506,400
Al 3,800,582
22U X 4,306,982 3,456,755 850,227
= 506,400
Al 3,800,582
=t2EU &R X2 3,387,820 2,547,820 840,000
301 LEtE N = 3,387,820 2,547,820 840,000
02 MR 2HHLFS(HAAS, XLHE) 3,387,820 0 3,387,820
O=It=3A E280=<
200,000 «860H 122 2,064,000
O=Jts3At &g+
200,000 x460E « 12 1,104,000
OSUSBN 8= Jl¥Y 928 X
130,000& * 14 1,820
OE=80=g WAt Alg?IZ=
200,000 *20H 4,000
OFHEU=E Hakt AldRIZS
200,000& x20H 4,000
OFHFSA IR =g
100,000 1752 * 12 210,000
HzgtNesIigs 24 A 16,467 6,667 9,800
201 ZBt=3hl 6,467 6,667 A200
01 AtR2te|HI 3,431 3,631 A200
OJlg& 88 AtR2eld 3,431
OHEBNIZS JlE& BHIAIAE 34|
110,000« 12& 1,320
od=Jl SXes 25,9002~ 12 311
0 E2Hl € AIRES 7Y
1,800,000 1,800
02 s3=gHl 3,036 3,036 0
OoJga 28 3324 3,036
oJlg& 28 M| 018=
220,000 122 2,640
o QY AIE 23 33,0003 x 122 3%
401 Al HIZ S 0HbI 10,000 0 10,000
01 A28l 10,000 0 10,000
OJlg& SaY=3A 10,000,000& 10,000
S2EHHM XA 306,145 281,168 24,977
307 212+01& 306,145 276,168 29,977




2A:

nu: D vel Y KB(MEEK/EE)
&l B4R X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 Al ZXAIEHE 22X 258,135 227,498 30,637
OZEH 2% N 229,693
0 DHITS3] 27,372
aa] 12,529,000& 12,529
jelbala] 14,843,000& 14,843
0 Z=3 17,723
23| 2,880,000& 2,880
o124l 14,843,0002 14,843
0 RE=EXE 27,219
23| 8,840,000& 8,840
lkals] 18,379,000& 18,379
o&l0|=2d3l 26,523
apa] 11,680,000& 11,680
jelbala] 14,843,000 14,843
o BENMEAMAIS 27,741
23| 12,898,000& 12,898
o124l 14,843,000 14,843
oMETZA0IYL3] 23,131
23| 8,288,000& 8,288
lkals] 14,843,000 14,843
S ECE e 22,96
apa] 8,140,000& 8,140
QI24H| 14,843,000& 14,843
0 EURRIXE 29,634
23| 15,716,000& 15,716
lbals] 13,918,000& 13,918
06.25FMRIHL3 27,367
23| 12,524,000 12,524
lkals] 14,843,000 14,843
OorpE 2% X2 28,44
oMet=0els 28,442
23| 5,120,000& 5,120
lbala] 23,322,000 23,322
11 AISI S XA EE 48,010 48,670 A660
OSBLENE NHUSHE BHHA &4
2,000,000& 2,000
OzEeH BEX &2 29,750
0 NG HHEL3 4,250,000 4,250
0 RES+EX3E 4,250,000 4,250
o&f0IzZ& 3 4,250,000 4,250
(oR=1=FSE=FSPNg=l 4,250,000 4,250
od==d012els 4,250,000 4,250




2A:
X XH -
o e

=aak

S X )
SN - O(BH) - NRAY - BAS 0l Aoy A 2
o3 4,250,000 4,250
0S4l 4,250,0002! 4,250
OoHZEH 12,030
o Mot NEEIERIESp
3,730,000& 3,730
0SB HE 4,250,000 4,250
o ME=0l o|tal
1,950,000& 1,950
0E=EE9
2,100,002 2,100
O DL
2,380,000& 2,380
OL2SAIEX E8dl XA
1,850,000& 1,850
2EHH XE L EEANY USRS 8F 22 12,000 8,000 4,000
Bl XI&AIE)
= 2,400
Al 9,600
307 QIZ2t01 M 12,000 8,000 4,000
== 2,400
Al 9,600
1oz & 12,000 8,000 4,000
OSYSBN 8
12,000,000& 12,000
& 2,400
Al 9,600
SHH K& =) 172,800 172,800 0
= 172,800
301 L8N 172,800 172,800 0
& 172,800
2 AMBIEH &) 172,800 172,800 0
oZax &
60,0003 x240Y » 128 172,800
& 172,800
SCA XA ol+=<) 331,200 338,400 NT,200
== 331,200
301 LEtEH 331,200 338,400 NT,200
T 331,200
02 A3 2 & ) 331,200 338,400 NT,200
oRRAT &
60,000 =460 * 123 331,200
& 331,200
Mol=52 & 12,000 15,400 A3,400
201 Let2AY| 6,500 6,500 0
03 A2 S| 6,500 6,500 0




SN ST
M 2NEE 22| & NF(ME=X/EE)
&l B4R X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAMoli=52l & JI84 &= M
1,500,000 1,500
OANdli+=32 & J1gal Al 24
5,000,000 5,000
301 22N = 2,900 2,900
11 AALREIXIES 2,900 2,900
OMli=32 & JI8A SZAIHSEE S
o 2as 2,000,000& 2,000
OMali=32 & JI84 dAL =0 SSAL 2
d= 200,000 200
ONMoli+=39l & J|g4l Al XIEz
700,000& 700
307 212+01& 2,600 6,000 23,400
11 AMEISXAEEES 2,600 6.000 23,400
OMali=32 & JI84 &AL U sS4
2 =S N 2,600,000 2,600
SEANE RAEs 20,950 16,900 4,050
201 er2 3| 5,950 1,900 4,050
01 AtR2telHl 950 1,900 A950
O ESAIE H=J1 & Fel
19,0002 *50H 950
02 s3=gHl 5,000 0 5,000
OB SAIE S3EH| 5,000,000& 5,000
401 Al HIZL 201 15,000 15,000
01 Al&H| 15,000 15,000
OB EAE FAE+ 15,000,000 15,000
SEg A 26,400 26,400 0
201 fer23| 10,000 10,000
03 A= SHI 10,000 10,000
Ossg gA =24 10,000,000 10,000
301 Eet2 NS 3,200 3,200
11 #AIAHIXIE S 3,200 3,200
OB s A SZAIEEEH 3 243
2,000,000& 2,000
OSEL A 0| SHA o=
200,000 200
OEEZ A AMldsS 283
300,000 300
Ossg A Mgz 700,000& 700
307 elztol & 8,000 8,000
11 AMEISXAEEES 8,000 8,000
OSHEZ A Z0IA SAHl & AES A&
20,0003 400 8,000
401 AlZHIZ 2018 5,200 5,200
01 A28l 5,200 5,200




SN =NEY
M IDVIEE 22l L N (ME=X/EE)
chel: SEHAX IR EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| Ozsg my 5,200, 0002 5,200
6.258 % DA} 21,200 21,200
201 ZEt2 & 10,000 10,000
03 @At2EH] 10,000 10,000
OB.25T M JIEAl BA HAIS HIA
5,000,000& 5,000
0B.25F3 J|EAl BAl 29
5,000,000& 5,000
301 LetEAEZ 3,200 3,200
11 HALAHIXIE 3 3,200 3,200
06258 J|EA SEAYSHC 2ol
2,000,000& 2,000
OB.25T% JIGAl 20f SAA B4
200,000 200
062573 JIEA Algs A3
300,000 300
0B.25T3 J|GAl SAF HSR
700,000 700
307 gI2Hol ™ 8,000 8,000
1 ARRISXAIEE X 8,000 8,000
O6.258 3 J|EA AL A S4H £ A
22 & 20,0003 x400H 8,000
ABIOFM O ARIXICH SHA (AFSISXI/H L HEXIH) 2,830,586 2,387,961 442,625
= 915,500
s 513,720
= 237,986
Al 1,070,869
= 92,51
SX g4t = 932,986 913,086 19,900
= 7,500
L= 26,631
Al 806,344
= ®?,51
DSAF O 2 2R XMAH 25 ALY 15,000 0 15,000
= 7,500
& 4,500
Al 3,000
201 et | 5,000 0 5,000
= 2,500
& 1,500
Al 1,000
01 Ar2eltl 5,000 0 5,000
ODEA ZRAMH 25 224)
5,000,000& 5,000
= 2,500




2A: EXNF-=
HEH: ASOFM A AREXICH SHA (ARSI EXI/F A HSKI)
ol A gy FA EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 1,500
Al 1,000
307 212+01™ 10,000 0 10,000
= 5,000
= 3,000
Al 2,000
1 ABIZRIAEE 10,000 0 10,000
OMEHEDIS U NEEBHY 4o T2
O 29 10,000,000& 10,000
= 5,000
= 3,000
Al 2,000
ANSIE D" I D=AF ol X3 AFS 3,000 3,000
201 B2 AY| 3,000 3,000
02 33=24H| 3,000 3,000
OAEE DI H2 MUIA(ADIE HIA
A S4aldl) 3,000,000& 3,000
Se Azl =X& 29 629,000 612,684 16,316
307 2I2+0l™ 629,000 612,684 16,316
05 2IZteEer g 629,000 612,684 16,316
O=ZxZEEA=N2 2Y 629,000
0 BXTEAE SR At
10,000,000 10,000
o =T Ae=X2 23|
32,627,000 32,627
o0 BEXZE A= 1|
586,373,000& 586,373
KSESXIAIY D18 ZH(AEISXIE2E 29) 126,625 72,200 54,425
& 14,756
Al 59,024
= 52,845
307 QIZ2t01A 126,625 72,200 54,425
= 14,756
Al 59,024
= 52,845
10 Al S XA EEHE2FHIE X 126,625 72,200 54,425
OAt=l=X8os 29 73,780,000& 73,780
& 14,756
Al 59,024
OSZAIAEISXIE S 1248 (RHA)
52,845,000& 52,845
= 52,845
KS=SXIA D18t L (XSMIIEHE AN 83 X 76,541 36,000 40,541

2)




SH: =XEMY
S ARIHE Y ARIXICH SHA (AFRISXI/FHAASIH)
el =X gy =X EEREE)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
< 7,375
Al 29,500
= 39,666
307 @I2to| & 76,541 36,000 40,541
== 7,375
Al 29,500
= 39,666
10 Al SAAEEHE 22X 63,571 36,000 27,571
OXNSAR 2HE M g4t AE
36,875,000 36,875
== 7,375
Al 29,500
OXIYAB S ZE AN st X2 (XHA) 26,696
o NGASI2HE AN 83t XA 23]
7,449,000& 7,449
= 7,449
o NSGASI2HE M 83t XA 2124Y|
19,247,000& 19,247
= 19,247
11 AMEISXAEEE 12,970 0 12,970
OXISABI 2SS AN 245t X3 ArZHI(
KHAI) 12,970,000& 12,970
= 12,970
NA=SXAIY J1gh e (XSG 2HE2AM 2435 X 39,600 39,600 0
) 22|
201 LEH2 | 39,600 39,600
01 At2teltl 39,600 39,600
Os NGAI2HE2ANM 22+
20,0002 x25H +62]+85 24,000
O=ZAl NGALI2Y HEE2M 2l2+=E
70,0002 x20H *33] 4,200
OEFZAl NGARIEE 421 2o
20,0002 x10+62|x6F 2 7,200
OSBZAl NSABIEE AREAM 3l2¢
70,0003 x20 2«33 4,200
NSARI S A 23t 33,220 32,420 800
201 fer=3| 13,220 2,420 10,800
01 AtR2t2|HI 11,600 800 10,800
OAtzI=Xal2t =Xt RS
10,600,000 10,600
O3Z=XXE A2zl
1,000,000 1,000
2 s=5=34l 1,620 1,620 0
OSEAMIZCIMN SXR3
45,0002 *3CH* 12 1,620
301 22N = 10,000 10,000 0




A SR
M AIBIOHESE ARIXICH B4 (AFBI= XI/Z I EXI2)
el SX gy = EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 10,000 10,000 0
OEM(8)JI thel ME2F X
50,0002 * 100 <22 10,000
401 AIEHIX R0 10,000 20,000 10,000
01 A28l 10,000 20,000 10,000
OMEEXg2 JIsEL(ARZAMY S)
10,000,000& 10,000
FLd3 29 10,000 10,000 0
307 elztol & 10,000 10,000
11 AMEISXAEEES 10,000 10,000
OMASE 583 A 10,000
o FL W3 2| 10,000,000 10,000
FoIME sta X3 1,897,600 1,474,875 422,725
= 908,000
= 513,720
== 211,355
Al 264,525
28=A 1,136,000 900,000 236,000
= 908,000
= 114,000
Al 114,000
301 EetE NS 1,136,000 900,000 236,000
= 908,000
= 114,000
Al 114,000
01 Al EE A S (2 REXMR) 1,136,000 900,000 236,000
(OFdI==INIDNL! 1, 136,000,000 1,136,000
= 908,000
= 114,000
Al 114,000
=0 S 2% 1,200 1,200
301 EtE2 N = 1,200 1,200
02 A2 H -GS (FHAAS, NSWE) 1,200 1,200
Ok=¢l § 25 20,0003 x5 128 1,200
Dy tArY 16,000 32,000 16,000
301 22N = 16,000 32,000 16,000
11 AALREIXIES 16,000 32,000 A16,000
O NSAI 2SN 243t X2
2,000,000 x8& 16,000
AZ7 SEAtel2tel X3 15,000 15,000 0
= 7,500
Al 7,500
201 eer23y| 9,000 9,000 0




S =X
2 ALHE Y ARIXICH A (AFSISXI/FHAHSKIH)
CHR|: Z=0IMEH SEAF K|S =

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 4,500
Al 4,500
01 At2tltl 9,000 9,000 0
OAtell2tel &= gH| 8,020,000& 8,020
= 4,010
Al 4,010
Os=R48223 32o=g
70,0002 7 H =23 980
[ 490
Al 490
202 04l 1,500 1,500 0
s 750
Al 750
01 =LHAHI 1,500 1,500 0
OAtell2te| s E& 0
500,000 *3& 1,500
[ 750
Al 750
301 22N = 4,500 4,500 0
[ 2,250
Al 2,250
01 AR 2EHSFS(RNEXRTHE) 4,500 4,500 0
OAtell2tel At XI& 4,500,000 4,500
s 2,250
Al 2,250
SO A0 Z&=5 1,800 0 1,800
301 EtE2 N = 1,800 0 1,800
14 0Bt 2 a3 1,800 0 1,800
ORIt &1 Zat=
50,0002 *x3& * 12 1,800
SHEs XEE SEAMHIA X 78,900 78,900 0
= 55,230
Al 23,670
201 er23| 38,900 38,900 0
= 27,230
Al 11,670
01 AtR2te|bl 34,720 34,720 0
OS Atdl&el =24 4,340,000 +8H 2= 34,720
= 24,304
Al 10,416
02 s3=gHl 4,180 4,180 0
OtEXIZ0 Stz
522,500 x84 A 4,180
= 2,926




2A:

M AIE C.’_Féo* AZXITH Sl A (AlSISXI/FH A HSXIH)
Rl e s XA EEREE)
SN - O(BH) - NRAY - BAS 0l Aoy e HIDS2
Al 1,254
301 LetENZ 40,000 40,000 0
= 28,000
Al 12,000
01 AIBIBEX A2 (2REXZE) 40,000 40,000 0
O Arellze| X 5,000,000 *8IH 2~ 40,000
g 28,000
Al 12,000
MNASE SEX(Xtae 213X) 2,000 8,000 26,000
& 1,000
Al 1,000
301 LEtENZ 2,000 8,000 26,000
T 1,000
Al 1,000
02 ANSIBEEHS(FHLHS, NYME) 2,000 8,000 6,000
OXtatel 2IZXI& 2,000,000& 2,000
= 1,000
Al 1,000
FOIME A ek =& X33 3,000 5,000 2,000
202 0441 3,000 5,000 22,000
01 =LHO4 b 3,000 5,000 22,000
O=LHoY| 3,000,000& 3,000
m;z'xrrzs@ MEIMHIA XA (M) OFARIE Y2 X 8,099 78,783 6,311
&
= 59,569
& 12,765
Al 12,765
301 LEtENZ 85,099 0 85,09
Fay 59,569
== 12,765
Al 12,765
01 A2 & X2EZ2(2REETA) 85,099 0 85,099
OJtAIEEZ MUlA X
85,099,000& 85,099
= 59,569
= 12,765
Al 12,765
KETIEE ASIMHIA STAIY (ME) (LASEMEIA 188,000 0 188,000
X&)
Fay 132,000
== 28,000
Al 28,000
201 LB-2AY| 20,000 0 20,000




2A:

X XH -
o=

CHol: =OIASH SEA (2 &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
iy 14,000
T 3,000
Al 3,000
01 AR2teld| 20,000 0 20,000
OXSETEE MIAMEIA EXNAMS (LAES
MUIAXI2 2te|29h]) 20,000,000& 20,000
iy 14,000
T 3,000
Al 3,000
301 LetENZ 138,000 0 138,000
ax 97,000
& 20,500
Al 20,500
01 AISIBE X 2GS (2 RETME) 138,000 0 138,000
OXSETEE MIIAMHIA EXAIS (MEH) (L
AEEAMHIAXIH) 138,000,000& 138,000
= 97,000
& 20,500
Al 20,500
307 2I2+0l™ 30,000 0 30,000
= 21,000
& 4,500
Al 4,500
10 Al S XA EEHE2IHIE X 30,000 0 30,000
OXNYETIEE MIAEIA EXAMS (LAES
MHIA 2018 o1A4H])
30,000,000 30,000
= 21,000
& 4,500
Al 4,500
XSRS ASIAMUIA SXAN (ME) (KISARRIAEIA 349,061 329,487 19,574
SEXANR)
= 244,343
& 52,359
Al 52,359
301 LPENF 349,061 0 349,061
= 244,343
& 52,359
Al 52,359
01 AISIBE XS (2 RETE) 349,061 0 349,061
OXISA2I MBI AEXALS K&
349,061,000& 349,061
= 244,343
& 52,359
Al 52,359




2A:

M ABIOED ARIXIH ShA (AFSI= KI/F S HS T
©Hel Fodg st X (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
x|;ﬁx+%§1 AMEIAHIA SXAI (M) (ZE0HS A2 A 18,568 22,500 A3,932
A
2 12,998
= 2,785
Al 2,785
301 YEHE A 18,568 0 18,568
2 12,998
== 2,785
Al 2,785
01 ABI 2R E4HZ(2DEXTHE) 18,568 0 18,568
OHEDISAHLAIY X 18,568,000 18,568
2 12,998
== 2,785
Al 2,785
XIS AMSIAHIA SEXFARR (X2 ALSI A A S XA} 2,972 4,000 ~1,028
A2 AHIXIR)
2 2,080
< 446
Al 446
201 YEr2KH| 2,972 4,000 1,028
2 2,080
== 446
Al 446
01 AFR22/H| 2,972 4,000 1,008
OXIHABIAHIAETIAIY 2| X1
2,972,000 2,972
2 2,080
== 446
Al 446
JIENE Y HASS HEXA(MESX/IZNELE) 26,121,457 20,568,384 5,553,073
2 2,151,984
< 1,585,060
Al 2,343,462
= 40,951
ERLEES Nk 26,121,457 20,568,384 5,563,073
2 2,151,984
= 1,585,060
Al 2,343,462
== 40,951
LRATH KSAIHXH (RHZAIY AADIR A3 6,000 6,000 0
= 1,200
Al 4,800
307 QIZtol & 6,000 6,000 0
= 1,200




A SXNEH
M J|ZME Y HASE MEXA(NSS /I ZMSEE
Celr JIZMESHXR (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 4,800
10 Al SXAZEE 22X 6,000 6,000 0
OXHE ALY AAID2 SA2k235}
6,000,000& 6,000
== 1,200
Al 4,800
ME=3=| 12,302 1,141 1,161
308 XtXIEMSO0IE 12,302 1,141 1,161
08 W=J|20CHe 2 & 12,302 1,141 1,161
Ouss0 12,302,000& 12,302
JI=dE2H20 23 8,260 7,740 520
201 er23y| 6,460 5,740 720
01 AtR2t2|HI 6,460 5,740 720
O =22 HYRARS &o+E
150,000& 10 <22] 3,000
ORADA M3 HIEOI1=+24)
800,000 x2H 1,600
OAtR2e|H(DESXEHAHEH)
300,000 300
ORI Oz 4223 E=2Y)
1,000,000 1,000
OXII2E AN 2l2+¢
70,0003 x4 H 23] 560
202 04l 1,800 2,000 A200
01 =LHAHI 1,800 2,000 A200
O=LH04HI 1,800,000 1,800
ZesaEAErSHAEF2SNE 329,708 360,574 A30,866
= 296,737
Al 32,971
307 21201 & 329,708 360,574 A30,866
= 296,737
Al 32,971
11 AMEISXAEEES 329,708 360,574 230,866
ougsI=s% 100,000 +4421 4,400
= 3,960
Al 440
OFEUE /X< Olst
300,00021%62021 186,000
2 167,400
Al 18,600
OFEUL/Itee =1t
100,000& x59224 59,200
= 53,280
Al 5,920
OFHM=AZ 100,400 »20A4 2,008




A SAE M
M J|ZME Y HASE MEXA(NSS /I ZMSEE
Belr JI=MEETIXR (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,807
Al 201
O3 M=AHZH 300,000 1664 49,800
= 44,820
Al 4,980
OsIYM=EAH %2 100,000 x24624 24,600
= 22,140
Al 2,460
O3II=sSaE2 100,000& 3721 3,700
= 3,330
Al 370
ABISXDIS(REXZAEAHE) X 2,400 2,450 250
201 er23| 2,400 2,450 AB0
01 AtR2t2|HI 2,400 2,450 A50
OXEXAANSHE AMAE FXI 2=
2,400,000& 2,400
HAHZS0 21,473,170 17,223,000 4,250,170
= 19,325,850
=S 1,503,120
Al 644,200
301 EetE2 NS 21,473,170 17,223,000 4,250,170
= 19,325,850
= 1,503,120
Al 644,200
01 Al EE A S (2 RDEXA) 21,473,170 17,223,000 4,250,170
OdA=N 21,473,170,000& 21,473,170
= 19,325,850
= 1,503,120
Al 644,200
SZNSA2EE JIsEZAE 1,647 1,647
402 2IZtA=01d 1,647 1,647
01 QI XHE AL E R (KM TH) 1,647 1,647
O=XNEA2EH JIs2EZAY
1,647,000& 1,647
A=A S2XA 5,540 5,500 40
201 Ler23 | 2,840 2,500 340
01 At22t2lt] 1,000 1,000 0
OAIRZe|HI(SEZAL 22I29)
1,000,000& 1,000
02 S3=gl 1,840 1,500 340
OXtg= Al 1,000,000 1,000
OfEZ AIEZ 35,000 *2CH* 122 840
202 04| 2,700 3,000 A300




A SAE M
M J|ZME Y HASE MEXA(NSS /I ZMSEE
SRl JI=YEEEXA (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 2,700 3,000 A300
O=U0bl 2,700,000& 2,700
A2 2 A 2,325,100 2,199,910 125,190
= 2,092,590
= 69,753
Al 162,757
307 elztol & 2,325,100 2,199,910 125,190
= 2,002,590
< 69,753
Al 162,757
11 AMEISXAEEES 2,325,100 2,199,910 125,190
OXE2ZZAY XA 2,325,100,000& 2,325,100
= 2,002,590
s 69,753
Al 162,757
NASFO HLEEES X 170,700 167,400 3,300
301 LELEN S 170,700 167,400 3,300
02 MBI 2EHSFHS(HAANS, XLHE) 170,700 0 170,700
OMaSF HH2Ee S A2
14,225,0002 «12& 170,700
MNasSsodeory X 1,200,000 1,200,000
301 EtE NS 1,200,000 1,200,000
02 NBI2HHSFS(HAAS, XNLHE) 1,200,000 1,200,000
OEEAESS 200,000,000 200,000
OEs % =3I 1,000,000,000& 1,000,000
R =2l 78,128 78,128 0
= 78,128
201 ger=3| 78,128 78,128 0
= 78,128
01 At2teltl 78,128 78,128 0
OdF=acltl 6.510,666& *123] 78,128
78,128
KNSR 2LE 2K 361,542 296,103 55,439
= 217,414
Al 93,177
= 40,951
307 212+01& 361,542 296,103 55,439
= 217,414
Al 93,177
= 40,951
10 Al SXAI2EE 22X 361,542 296,103 55,439
OXIS Xt 24 310,591,000 310,591
= 217,414




A SXNEH
M J|ZME U HASE MEXA(NSISX /I ZMBLR)
Belr JI=MEETIXR (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 93,177
OXGREME 2 X2 (21248]) (XA
40,951,000 40,951
= 40,951
SHAE NSO 156,960 140,000 16,960
= 141,265
= 10,987
Al 4,708
301 LEtE N = 156,960 140,000 16,960
= 141,265
== 10,987
Al 4,708
01 A2 HSFS(RNEERTHE) 156,960 140,000 16,960
O FaESPNI=10 156,960,000& 156,960
= 141,265
[ 10,987
Al 4,708
HH2LZHI(SRZ D) (OIEHIIE 496,903 339,363 157,540
= 92,074
= 111,612
S 27,622
Al 166,284
= 99,311
elIE =g 462,043 298,618 163,425
= 92,074
= 111,612
== 27,622
Al 131,424
= 99,311
Atedl2ie]l MERA HE (A2 S H 22 AL 120,135 109,538 10,597
[ 59,520
Al 14,880
= 45,735
101 @124H| 97,980 61,49 36,485
= 49,544
Al 12,385
= 36,051
03 SR (RINHA) 222+ 97,980 61,495 36,485
O2 230 &cIAt 21| XI&H 61,929
oJlE2=(1658) 2,231,680 %0 20,086
= 16,069
Al 4,017
ollEs(1783) 2,250,240 38 6.751




2A:
X XH -
o e

=aak

=X1% 20}
HE 22| (2K H M
ol 2ay|

F(DIEHDIE})

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2

iy 5,401
Al 1,350
0J|23(185 &) 2,269,730 *3& 6,810
s 5,448
Al 1,362
0J|23(1983) 2,289,010 »9& 20,602
= 16,482
Al 4,120

0 ZDDRAY(165)
255,390 *9E 2,29
= 1,839
Al 460

0 ZN2R4L(1752)
257, 2503 *3E 772
= 618
Al 154

0 D224 (185E)
259,200 *3& 778
= 622
Al 156

0 ZN2R4L(195)
261,130 »9& 2,351
= 1,881
Al 470
oAdlt= 740,000& x2H 1,480
= 1,184
Al 2%
O30 &e|Ab 2124H] K& (XEAl) 36,051
o HUZAlH| 140,000 »2Y*12& 3,360
= 3,360
o HA¥ ALY 120,000 x2F 122 2,880
= 2,880
onsEXH| 60,0003 «2H 123 1,440
= 1,440
o M2+ (1688) 1,278,560 2 & 2,558
= 2,558
0 ¥2+g(1858) 1,297,580 1,298
= 1,298
o0 ¥2xE(1953) 1,306,980& 1,307
= 1,307
o MIECtAE| (165 2) 639,270 *7 & 4,475
= 4,475
oMY (178 8) 643,910 *3& 1,932
= 1,932




A SXNEH
3. AY2IIH(SNEHD) (OIEH/IIE
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oMEEHE|(1BEE) 648,780 x2E 1,298
= 1,298
o ME &I (195 3) 653,620 8 5,229
= 5,229
0 YREIHI (165 ) 1,534,060+ 3,069
= 3,069
0 YHEIHI(185 ) 1,557,002 1,558
= 1,558
0 BEEIII(1952) 1,568,7102! 1,569
= 1,569
oo TRBEINSL(17E2)
136,930& 15 2,004
= 2,004
0 AXREFI+E(1983)
134,9003 15 2,024
= 2,024
04 HSRESS 22,155 48,043 N25,888
s 9,976
Al 2,495
= 9,684
M BRA(RIHS) 22N BEE2RE=s S 22,155 48,043 N25,888
OEAg0sg=2 1,036,500+2H 2,073
= 1,657
Al 416
OEXSHELS(RHA) 9,684
CEIXBUHESES(17ES)
4,768, 170& 4,769
= 4,769
oEIXS0EY=S(1958)
4,914,520& 4,915
= 4,915
Ogs!s=s R,422,0002 *4. 5% 4,159
= 3,327
Al 832
O=UALEE=RES 3,697
o=BIAUEHERES
92,422,000 *3.545% 3,277
s 2,622
Al 655
oI RALHERES
R,422,0002 +3. 545%+*12.81% 420
[ 336
Al 84
ONESMHES R RES
92,422,000 *2.75% 2,542




A SXNEH
3. AY2IIH(SNEHD) (OIEH/IIE
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,034
Al 508
dsd ZEE 2l N3 184,148 0 184,148
= 92,074
< 27,622
Al 64,452
101 @124H| 184,148 0 184,148
= 92,074
== 27,622
Al 64,452
M ORNZZ2NSE S 184,148 0 184,148
Odlsd g il X2 184,148
oJlE=s 2,265,300 «8E+0E 163,102
= 81,551
== 24,465
Al 57,086
SPSE Y/ FaEat=s 100,000 8+ 7,200
= 3,600
== 1,080
Al 2,520
odEE= 13,846,000 13,846
= 6,923
== 2,077
Al 4,846
SE At 2t2lA Q1248 XI& 157,760 101,628 56,132
s 52,002
Al 52,092
= 53,576
101 eI24d| 142,702 87,963 54,739
= 44,563
Al 44,563
= 53,576
03 SR (RIH )22+ 142,702 87,963 54,739
OSEAtdIZ2lAL e1248] X2 89,126
o 2IAHI(6E3) 1,951,320& 1,952
= 976
Al 976
o 2AHI(7TE8) 1,969, 1402« 113 21,661
= 10,830
Al 10,831
o 21AHI(1453) 2,114,380 «2E ~4 2 16,916
[ 8,458
Al 8,458




A SXEHDt
A HERHHHI(SXIZD) (OIEHIIE)
el i Eg| (Ete &
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
o 21HI (1558 8) 2,148,880 x2H+8 34,383
= 17,192
Al 17,191
0 ZNZ2R2EH(6EI)
22,1423« 10A12¢ 222
s 111
Al 111
EEE RN
22,4533 *10A12H 113 2,470
= 1,235
Al 1,235
0 ZNDRLL (145 E)
24,3142 x2Z+10AI1 2H+4 1,946
s 973
Al 973
0 ZU2RLY(1H55E)
24,6592 2B *10A| 2H+8H 3,946
= 1,973
Al 1,973
0 HXNRSEIE(7TE3)
17,7403 15 1,767
s 883
Al 884
0 HHRIEINLL(4EE)
127 5103 x2F+5 1,276
= 638
Al 638
0 ARIRBEINLL (1558)
129,310&x2F 10 2,587
s 1,2%4
Al 1,293
OS&tAdlZelAb 212481 XI& (XEA) 44,895
o &EY 40,0002 =2+ 12& 960
= 960
onESEAH| 60,0003 *3H 123 2,160
= 2,160
o HESII(5EE8) 1,349,020& 1,350
= 1,350
o HESIIHI(6ES) 1,359,530& 1,360
= 1,360
0 YAEESIIHI(1383) 1,450,380 x2 2,901
= 2,901
0 HAEESIIHI(1458) 1,457,360 +2H 2,915
= 2,915
o XA 120,000& x3H x 122 4,320




2A: SXEA
A HERHHHI(SXIZD) (OIEHIIE)
cel: olzt=2ay) (crol: M el)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 4,320
o d2+H(558) 562,00& 563
= 563
0 d2g(688) 679,760& 680
= 680
0B242(1352) 1,208, 6502122 2,418
= 2,418
0 ¥2+E(1458) 1,214,470 2% 2,429
= 2,429
0 HUZAHI 1400002 *32 * 128 5,040
= 5,040
oMECt3H| (65 S8) 1,132, M40 +52 5,665
= 5,665
oMY (1383) 1,208,650 *2F 2,418
= 2,418
oM (145 2)
1,214, 470228 42 9,716
= 9,716
OEIFZsg3(XHA) 8,680,650& 8,681
= 8,681
N HASREZS 15,058 13,665 1,393
= 7,529
Al 7,529
M SRHE(PINHSL)2ZX BE828€=2 S 15,058 13,665 1,393
Olur=t == 128,391,000 *4. 5% 5,778
s 2,889
Al 2,889
O H=HEYS 613,000 613
s 306
Al 307
O=0UAHUBEZRES 5,136
o3VHALEERES
128,391,000 #3.545% 4,552
= 2,276
Al 2,276
oL IQRYBHERL S
128,391,000 *3. 545%*12.81% 584
= 2P
Al 292
OLENBEERES 3,531
oUBAMNEEEREYS
128,391,000 *2.75% 3,531
s 1,766
Al 1,765




2A:

X XH -
o=

SINESES N}
HY2HAH(SXZ ) (DIEHIIEH

el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Jl=3H| 34,860 40,745 Ab,885
Jl=23H] 34,860 40,745 25,885
201 er23| 27,360 30,360 23,000
01 At2teltl 27,000 30,000 A3,000
O=EH| 9,000,000& 9,000
ORAN2g AtR2t2/] 18,000,000 18,000
02 s3=gHl 360 360 0
ORAEd 3524l 30,0002 x 122 360
202 04| 2,700 3,000 A300
01 2LHoIH 2,700 3,000 2300
ORKNKEg =L 2,700,000 2,700
203 HRP=H] 4,800 4,980 A180
M A2 LRFAI 4,800 4,980 A180
ORANEg g4yl 400,000+ 122 4,800
WRes(SXNEMY) (MEISX/HAHEXR) 1,530,240 1,574,378 N44,138
WA XIE 1,530,240 1,574,378 N44,138
o220 I=SE3HEES 2 1,530,240 1,574,378 N44,138
701 JIEtRI HSHES 1,530,240 1,574,378 N44,138
01 It AN ES 1,530,240 1,574,378 N44,138
Ooza0II=582H d&E=
1,530,240,000& 1,530,240




